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12. Given that f(x) = X*

p— .XER and x # 3.
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Show that the graph of y = f(x) has no turning points.
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T&T7 3.2 Turning Points

15

(a) Find the stationary points on the curve with equation y = x* — 9x? + 24x — 20
and justify their nature.
(b)

(i) Show that (x —2)*(x —5) = x* — 9x? + 24x — 20.

(ii) Hence, sketch the graph of y = x3 — 9x? + 24x — 20.
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15. (a) Find the stationary points on the curve with equation y = x> — 9x? + 24x — 20
and justify their nature.
(b) (i) Show that (x —2)*(x —5) = x* — 9x? + 24x — 20.
(i) Hence, sketch the graph of y = x3 — 9x2 + 24x — 20.
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